Name:

Class/Date:

Decimal: Division ccssmariensss

Part 1: FIRST, write the problem. Then rewrite so you are

NOT dividing by a decimal. Then solve.

| STEPS

D
M:
8
B:

Divide
Multiphy
Subtract
Bring Down

1. Simplify 4.84 = 0.2.
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Rewrite: non-decimal divisor.
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2. Solve 55.24 + 0.01.
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Rewrite: non-decimal divisor.

3. Calculate 52 + 0.4.
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Rewrite: non-decimal divisor.

4. Simplify 66 + 0.12.

Rewrite: non-decimal divisor.

5. Solve 56.56 + 0.007.

Rewrite: non-decimal divisor.
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6. Calculate 2.2462 = 2.2.
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Rewrite: non-decimal divisor,
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